[ number of missing inner layers |

1e Entries 696
E : . i | Mean 0.04598
r Std Dev 0.2529
e T T ]
10 E Entries 692
F Mean 0.03902
N Std Dev 0.2342
2L ito.fiiiiie...
10 E Entries 693
E Mean 0.04618
B Std Dev
103 i |
E Entries 659
r Mean 0.05463
—4 Std Dev 2585
107 OSSR a i
E : Entries 696
L . Mean 0.04598
S voeoi.]Std Dev 0.2529
107E e
10—6....|........l....l........I....I....I....I....
1.5 S
—
r — —

0 05 115 2 25 3 35 4 45 5

[ number of missing outer layers |

1072

1073

10

107°

eeeeeeeaaaaa. e

Entries 696
Mean 2.174
Std Dev 2.29

: |
Entries 692
Mean 2.236
Std Dev 2.318

Entries
Mean
Std Dev

Entries
Mean
Std Dev

TTTPRITTTTT

mean hi

20 :
S USROS
16F---- '
144
12
10

102

10

Entries 696
Mean 7.941
Std Dev 4.419
s ee-o-- ]
Entries 692
Mean 7.918
Std Dev 4.386
Entrie 693
1 Mean 7.944
Std Dev 4.447
AR 1
Entries 659
Mean 9.572
5td Dev 5.398
- T
Entries 696
Mean 7.941

Std Dev

g
o N
T

iy

Opr

Entries 823
Mean 0.6565
Std Dev 1.695
""" ]
Entries 815
Mean 0.6619
Std Dev 1.704
: T
Entries 823
Mean 0.6542
Std Dev 1.695
Entries 842
Mean 0.6703
| Std Dev 1.736
: |
Entries 823
Mean 0.6565
1.695

- _Std Dev




	Contents
	Page 1


